


Vacuum - description so far
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Going from QGP - hadronic gas
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Going from QGP - hadronic gas
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Chemical equilibrium
(only S is conserved)
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Chemical equilibrium
(S, I3, excluded volume)
Diplomarbeit Ingrid Heppe 1998
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Chemical equilibrium
properly done (I. Heppe)
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Tch, µB in the QGP phase diagramm

A. Andronic, P. Braun-Munzinger,  J. Stachel, Nucl. Phys. A772 (2006) 167
P. Braun-Munzinger, J. Stachel, Nature insight 448, (2007) 302 
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Why is Tch ~Tc ?

Ω

are  detected - consistent with chemical freeze out

π
K

K
K

π

2π +  3K      Ω

Ω

5 particle collision -> rate is prop. nπ
2nK

3~ nπ
5 (nK/nπ)3
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Why is Tch ~Tc ?

τΩ ~ T-60

P. Braun-Munzinger, J. Stachel, C. Wetterich Phys. Lett. B596 (2004) 61 nucl-th/0311005

nπ=ε/T
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Thermal freeze out ?
Looking at transverse momentum
distribution

slope constants grow with mass  - much too large to be temperatures!
                Hubble Expansion of Nuclear Fireball  
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